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Section : General Knowledge & Current Affairs & General Awareness about the Environment

Q.1 Who brought Railways and Telegraph to India and he is known as the maker of modern
India?

Ans x 1. Lord Canning
X 2. Lord William Bentick
( 3. Lord Dalhousie

X 4. Lord Wellesley

Question ID : 7645841037
Status : Answered
Chosen Option: 3

Q.2 Which of the following is not true about Light Waves?

Ans X 1. Light waves are electromagnetic waves.

x 2. Light waves can travel very long distances.
( 3. Light waves require a medium to travel.

x 4. Variation in frequency of wave gives different colours.

Question ID : 7645841032
Status : Answered
Chosen Option : 2

Q.3 Who among the following is the second richest Indian as per the Forbes India Rich List
2019?

Ans X 1. Kumar Mangalam Birla
x 2. Uday Kotak
( 3. Gautam Adani

75 4. Lakshmi Mittal

Question ID : 7645841051
Status : Answered
Chosen Option : 1
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Q.4 The Nongkram dance is performed during the months of May and by the
inhabitants of the Khasi hills.

Ans X" 1. October
J 2. November
X 3. December

X 4. January

Question ID : 7645841027
Status : Answered
Chosen Option : 2

Q.5 The last ruler of the Gupta Dynasty is
Ans X" 1. samudragupta

x 2. Sri Gupta
J 3. Vishnu Gupta
x 4. Chandragupta

Question ID : 7645841038
Status : Answered
Chosen Option : 3

Q.6 As of December 2019, which of the following coalition of parties are in power in
Maharashtra?

Ans X" 1. BJP-Shiv Sena
X 2.BJP-NCP
J 3. Congress-NCP-Shiv Sena

x 4. Congress-NCP-BJP

Question ID : 7645841055
Status : Answered
Chosen Option : 3

Q.7 49th Amendment gave a constitutional sanctity to the Autonomous District Council in

Ans X1 Assam
25 2. Mizoram
75 3. Sikkim
o 2 Tripura

Question ID : 7645841047
Status : Answered
Chosen Option : 1
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Q.8 The first Cricket player to be awarded Rajiv Gandhi Khel Ratna award is
Ans ( 1. Sachin Tendulkar

x 2. Rahul Dravid
X 3. Mahendra Singh Dhoni

x 4. Kapil Dev

Question ID : 7645841039
Status : Answered
Chosen Option : 1

Q.9 Article 14-18 deals with the
Ans X" 1. Right against Exploitation

x 2. Right to Freedom of Religion
J 3. Right to Equality

x 4. Right to Property

Question ID : 7645841048
Status : Answered
Chosen Option : 2

Q.10 “Swaraj is my birth right and I shall have it." This famous quote was given by
Ans x 1. Lal Bahadur Shastri

X 2. Mahatma Gandhi
( 3. Bal Gangadhar Tilak

X 4. Lala Lajpat Rai

Question ID : 7645841036
Status : Answered
Chosen Option : 3

Q.11 Shipra is a tributary of river.
Ans X 1. Mahanadi

J 2. Chambal
75 3. Ravi
x 4. Indus

Question ID : 7645841033
Status : Answered
Chosen Option : 1
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Q.12 The bank whose brand equity is "Pygmy Deposit Scheme" is
Ans  off 1 Syndicate Bank

x 2. Union Bank of India
75 3.UCO Bank

x 4. Punjab National Bank

Question ID : 7645841029
Status : Answered
Chosen Option : 2

Q.13 The Ocean is geologically the youngest of the oceans.
Ans & 1 Pacific

J 2. Indian

x 3. Antarctic

x 4. Atlantic

Question ID : 7645841034
Status : Answered
Chosen Option : 3

Q.14 Which of the following gases is not used in electric bulbs and tubes?
Ans x 1. Xenon

X 2. Neon
x 3. Argon
( 4. Nitrogen

Question ID : 7645841030
Status : Answered
Chosen Option : 4

Q.15 Which of the following won the ‘Album of the Year’ award at Grammy Awards 2019?
Ans x 1. Cardi B - Invasion of Privacy

J 2. Kacey Musgraves — Golden Hour
/X 3. HER -HER.

x 4. Brandi Carlile — By the Way, | Forgive You

Question ID : 7645841054
Status : Answered
Chosen Option : 2
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Q.16 The real name of is Dhanpat Rai.
Ans X" 1 Baba Amte

( 2. Munshi Premchand
X 3. Ravi Shankar

x 4.Vinoba Bhave

Question ID : 7645841040
Status : Answered
Chosen Option : 3

Q.17 Amendment increased the number of Lok Sabha seats from 525 to 545.
Ans & 1.32nd

75 2.25th
/X 3.43rd
W 4315t

Question ID : 7645841043
Status : Answered
Chosen Option: 1

Q.18 Who won the Premier Badminton League 2019?
Ans x 1. Hyderabad Hotshots

X 2. Mumbai Rockets
( 3. Bengaluru Raptors

X 4. Delhi Dashers

Question ID : 7645841050
Status : Answered
Chosen Option : 3

Q.19 Who is the author of the book “Satyartha Prakash”?
Ans  off 1. Dayanand Saraswati

x 2. Vivekanand
x 3. Narayana Guru

x 4. Ishwar Chandra Vidyasagar

Question ID : 7645841028
Status : Answered
Chosen Option : 4
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Q.20 Nobel Prize in the field of were instituted in the year 1969 with Ragnar Frisch of
Norway and Jan Tinbergen of The Netherlands being the first recipients.

Ans X" 1 Physics

X 2. Peace

J 3. Economic Sciences

X 4. Literature

Question ID : 7645841046
Status : Answered
Chosen Option : 4

Q.21 The highest peak of Antarctica is
Ans X 1. Aconcagua

x 2. Kosciuszko
J 3. Kirkpatrick

x 4. Elbert

Question ID : 7645841035
Status : Answered
Chosen Option : 2

Q.22 Which among the following movies won the ‘Best Hindi Film’ award at the 66th National Film
Awards?

Ans X 1. Super30
/X 2. Article 15

o 3. Andhadhun

x 4. Gully Boy

Question ID : 7645841052
Status : Answered
Chosen Option: 3

Q.23 Corbillon Cup is associated with
Ans X 1. football

x 2. hockey

x 3. badminton
J 4. table tennis

Question ID : 7645841049
Status : Answered
Chosen Option : 4
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Q.24 Who is the author of 'The Third Pillar'?
Ans X 1. Vinay Satpati

( 2. Raghuram Rajan
X 3. Shashi Tharoor

x 4. Malala Yousafzai

Question ID : 7645841041
Status : Answered
Chosen Option : 2

Q.25 was the first winner of Pro Kabaddi League.
Ans x 1. Bengaluru Bulls

J 2. Jaipur Pink Panther
x 3. Patna Pirates

x 4. Bengal Warriors

Question ID : 7645841045
Status : Answered
Chosen Option : 3

Q.26 Merdeka Cup is associated with
Ans 5 1 hockey

o 2. football
75 3. golf

X 4. badminton

Question ID : 7645841044
Status : Answered
Chosen Option : 3

Q.27 As of December 2019, who among the following has won the maximum number of Grand
Slam tennis tournaments in men's tennis?

Ans X' 1 Pete Sampras
X 2. Andre Agassi
X 3. Rafael Nadal
( 4. Roger Federer

Question ID : 7645841053
Status : Answered
Chosen Option : 3
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Q.28 "Thai Pongal" in its literal sense is the thanksgiving festival to the
harvest.

Ans X" 1 water
X 2. wind
W 3.sun
X 4. Rain

God for the

Question ID : 7645841026
Status : Answered
Chosen Option : 4

Q.29 Most meteors burn up in the layer of atmosphere.
Ans X" 1. Troposphere

J 2. Mesosphere
X 3. Thermosphere

x 4. Stratosphere

Question ID : 7645841031
Status : Answered
Chosen Option : 1

legislative assemblies for another years.

Ans o 1 25
K 2.20
/X 3.30
X 415

Q.30 84th Amendment extended the ban on readjustment of seats in the Lok Sabha and the state

Question ID : 7645841042
Status : Answered
Chosen Option : 2

Section : Reasoning & Mathematical Ability

of Nisha. Prachi is to the left of
Ans “ 1. Urvashi

X 2. Yashika
#< 3.Nisha
X 4. Mona

Q.1 Mona, Nisha, Yashika, Prachi and Urvashi are sitting on a bench. Urvashi is neither at the
end nor next to Mona or Nisha. Nisha is between Yashika and Mona. Mona is not to the left

Question ID : 7645841062
Status : Answered
Chosen Option : 4
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Q.2 Select the option that is related to the third term on the same basis as the second term is
related to the first term.

Orthopaedist : Bone :: Dermatologist : ?
Ans X 1 Kidney

X 2. Eye
x 3. Heart
W 2. skin

Question ID : 7645841060
Status : Answered
Chosen Option : 4

Q.3 The total of the ages of Krishna, Sakshi and Amrita is 75 years. What was the sum total of
their age 2 years ago?

Ans  of 169 years

X 2.71 years
x 3.73 years
X 4. 65 years

Question ID : 7645841068
Status : Answered
Chosen Option : 2

Q.4 A statement is given, followed by several assumptions. Read the statement carefully and
decide which of the assumptions are implicit in the statement.

Statement : "We need to hire more drivers" - Manager of Uber informed the team.
Assumptions :

1) Uber is expanding, hence it needs more drivers.
Il) Present drivers are not good.

Ans x 1. Neither Assumptions | or Il are implicit
( 2. Only Assumption | is implicit
x 3. Only Assumption Il is implicit

X 4. Both Assumptions | and Il are implicit

Question ID : 7645841065
Status : Answered
Chosen Option : 2
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Q.5 Arrange the given words in the sequence in which they occur in the dictionary.
1. RAVAGE
2. RAVISH

3. RAVELS
4. RAVENS

Ans  of 11,342
/X< 21,234
X 3.1,4,32
X 4.3,4,1,2

Question ID : 7645841056
Status : Answered
Chosen Option : 1

Q.6 In a certain code language,872' means ‘clean and healthy',246' means 'drink clean water' and
'156' means 'water is life'. Which of the following digits stands for 'drink'?

Ans X716
K22
X 31
24

Question ID : 7645841061
Status : Answered
Chosen Option : 4

Q.7 In the question two statements are given, followed by two conclusions, | and Il. You have to
consider the statements to be true even if it seems to be at variance from commonly known
facts. You have to decide which of the given conclusions, if any, follows from the given
statements.

Statement 1 : All dogs are wolves.
Statement 2 : Some dogs are frogs.

Conclusion | : Some wolves are frogs.
Conclusion Il : No frogs are wolves.

Ans ( 1. Only conclusion | follows
X 2. Both I and Il follow
x 3. Only conclusion Il follows
X 4. Neither | nor Il follows

Question ID : 7645841066
Status : Answered
Chosen Option : 2
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Q.8

Ans

Complete the following series:-

CAY,FDB, ___,LJH

X 1.HFD
75 2.FHC
X 3.JKD
o 4.16E

Question ID : 7645841057
Status : Answered
Chosen Option : 4

Q.9

Ans

If K + L means K is the son of L; K - L means K is the sister of L; K % L means K is the
brother of L and K x L means K is the mother of L, which of the following shows that D is the
niece of A?

X 1.D+B-C%A
X 2.D+BxC-A

75 3.DXB-C+A

o 4D-B+C-A

Question ID : 7645841063
Status : Answered
Chosen Option : 4

Q.10

Ans

Analyse the given information and answer the question that follows.
The criteria for selecting a Branch Manager have been given as under:

The candidate must:

1. Be a graduate in any stream with at least 50% marks.

2. Hold a post-graduate diploma in any stream of management with 60% marks.
3. Be between 25 and 35 years old on the date of application

4. Have branch managing experience of more than 2 years

The following exceptions apply:

A. If a candidate meets all other criteria except 4 above, the candidate will be referred to the
General Manager.

B. A candidate whose age is more than 35 years but less than 40 years will be referred to
the Assistant Manager.

Ashish Agarwal is a B.A. in English with post-graduation in Marketing Management. He has
scored more than 52% in graduation and more than 65% in post-graduation. He is 47 years
of age. He has experience as branch manager of 15 years.

What decision should be taken about this candidate?

x 1. The candidate should be selected.
x 2. The candidate should be referred to the General Manager.
x 3. The candidate should be referred to the Assistant Manager.

« 4. The candidate should be rejected.

Question ID : 7645841064
Status : Answered
Chosen Option : 2
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Q.11 Select the option that is related to the third number on the same basis as the second
number is related to the first number.

16:46::22:7

Ans X1 66
o 264
X 372
X 478

Question ID : 7645841067
Status : Answered
Chosen Option : 2

Q.12 Select the option that is related to the third term on the same basis as the second term is
related to the first term.

FLS:JPW:NUA:?
Ans X 1.QYE

W 2.RvE
X 3.PwC
/< 4.0xD

Question ID : 7645841059
Status : Answered
Chosen Option : 2

Q.13 In the given options 3 pair of letters are similarly related and one pair is differently related.
Find the pair which is differently related.

Ans X 1.1CQ:KFU
75 2.NWE:PZI
/X 3.L6M:NJQ
o 4.D0s: FUA

Question ID : 7645841058
Status : Answered
Chosen Option : 4

Q.14 An athlete runs 4 km in 50 mins and further 6 km in 1Th 30 mins. Find his average speed?
Ans  off 1429 kmph

X 2. 4kmph
75 3.4.75kmph
/X 4.45kmph

Question ID : 7645841074
Status : Answered
Chosen Option: 2
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Q.15 A number 576X0 is divisible by 9. Find the numbers that can replace X.

Ans X 1.36
K 21,8
K 32,7
v 2009

Question ID : 7645841072
Status : Answered
Chosen Option : 4

Q.16 Ram earns 20% more than Shyam, what percentage is Shyam's salary less than Ram?
Ans X" 1.26.67 percent

“ 2.16.67 percent
X 3. 13.33 percent

X 4. 23.33 percent

Question ID : 7645841076
Status : Answered
Chosen Option : 2

Q.17 What will be the eventual bank balance when a deposit of Rs 382.43 and a withdrawal of Rs.
193.44 is made to an account balance of Rs. 220.01?

Ans X 1 Rs. 407

#< 2.Rs.507
/5 3.Rs.309
W 4.Rs. 409

Question ID : 7645841069
Status : Answered
Chosen Option : 4

Q.18 Find the quotient when the smallest 4-digit number divisible by 13 is divided by 8.

Ans X" 1128
K 2127
X 3.126
o 4125

Question ID : 7645841071
Status : Answered
Chosen Option : 2
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Q.19 If (x+3)/(x-2) is half of 9:2, find ratio of (x-1):(x+4)?

Ans o 112
K 2.21
/< 3.32
X 4.23

Question ID : 7645841079
Status : Answered
Chosen Option : 4

Q.20 Find the ratio of xy(x+y)/{(x-y)(x-y)}, If x=2 & y=4.

Ans X116
X 2.24
312
X a8

Question ID : 7645841078
Status : Answered
Chosen Option : 3

Q.21 131,178, 194 and 214 are divided by the same number leaving remainders 10, 2, 7 and 5
respectively. Find the maximum possible value of the number.

Ans X 1.3
X 2.7
W 3.1
X 413

Question ID : 7645841073
Status : Answered
Chosen Option : 3

Q.22 A number 72X1 is divisible by 11. Find the number that can replace X.

Ans 1.4
K25
37
X 46

Question ID : 7645841070
Status : Answered
Chosen Option : 3
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Q.23 Uber runs a fleet of 5000 cabs while Ola has 3500 cabs, if 500 cabs from Uber join Ola, what
% gain did Ola make? (round off in 2 decimals)

Ans X" 1.13.90 percent
X 2.15.80 percent
x 3.18.90 percent

« 4.14.28 percent

Question ID : 7645841075
Status : Answered
Chosen Option : 3

Q.24 Rs. 3000 was divided and given on loan at interest rates of 11% and 12% p.a. for one year.

Total interest earned at the end of the 1st year is Rs. 348. Find the amount let out with 12%
interest.

Ans & 1 Rs. 1,200
75 2.Rs. 1,250

/X 3.Rs. 1,750

o 4.Rs. 1,800

Question ID : 7645841080
Status : Answered
Chosen Option : 1

Q.25 Anne sells an item at 12% below cost price. She would have made a profit of 20% if she had
sold the items for Rs. 750. Find her selling price.

Ans & 1. Rs. 600

/X 2.Rs.625
/X 3.Rs. 450
o 4 Rs. 550

Question ID : 7645841077
Status : Answered
Chosen Option: 3

Section : General Hindi & English

Q.1 fA=fafae v d, ar faeeal & 9, 39 fee o ag7 &R o1t wiwas # Ry 19 25 & agar 33
QY gTaeh HA-TH T Ga9 3T faehed 81

Ans x 1. T (IQ) R RO = A2
K 2. (39 39 T &Y ared @ @ |
W 3 (57R1) TR A & ey T
X 4.(3) Fm oA G0 a8 A Uk Tk &

Question ID : 7645841088
Status : Answered
Chosen Option : 3
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Q.2 fA=fafae vsr d, ar fase | 9, 39 98! e o1 oa= o ot Ry 71g 2ree-gva 3 oref o1 &gt
fRAeea gh

-

Ans X 1. Fema 3R TRl
X 2. <ue sl e
o 3. <=t ok Raroreft
X 4. Tt SR e

Question ID : 7645841086
Status : Answered
Chosen Option : 2

Q.3 f=fafaa us &, ar faeweal & @, 39 e &1 ag9 &R it Ry 71y 2ree & e e &1 9d@t
e gl

Rrepeey
Ans X 1 e
X 2. Tl
X 3. 3
W 4

Question ID : 7645841087
Status : Answered
Chosen Option : 4

Q.4 fa=fafEd us &, ar Rl d @, 39 ey o1 a9 & St R 710 2reg & gumEmeff ores
farerea &t 21
o
Ans Jlﬁ’cﬂ
X 2w
X 3. sisrt

X 4. e

Question ID : 7645841085
Status : Answered
Chosen Option : 1

Q.5 FafafEd v 8, ar el d 9, 39 ey o1 99+ o 51t g 71Q ggrer o agt oref aren
e &1

g s
Ans X 1. srerior B R
X 2.8 s
#< 3. T e

of 4 s e

Question ID : 7645841092
Status : Answered
Chosen Option : 1
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Q.6 F=fafad us &, ar faeweal & @, 39 faea &1 aa9 &R it Ry 719 2ree o1 &) aga &q arer
e g

&R:

Ans  of 1 @r
X 2@
X 3@
X 47w

Question ID : 7645841083
Status : Answered
Chosen Option : 1

Q.7 fA=fafle v d, ar faseal & 9, 39 faee o1 ag= &R St [ 2 o1 T8 fAerea 81
Ans  of 1 frga

75 2. Rafa

X 3 Rfea

/X 4 dfEa

Question ID : 7645841084
Status : Answered
Chosen Option : 2

Q.8 f=fafad us &, arR faereal & |, 39 faereu &1 =g= &2 St ST arer e T8l &1

Ans X1 i
W 2. Riftrearer
X 3. s
75 4. g

Question ID : 7645841089
Status : Answered
Chosen Option : 2

Q.9 f=fafad us &, arR fAereal & @, 39 A @1 9g9 &R 51t Ry 71¢ area & e o 9@l e
Gl

&t uTg- uTSh ST gt et
Ans X 1. arquf adfETeRE
V' 2 T s
X 3. Guren wfesgere
75 4. dfry adueTE

Question ID : 7645841091
Status : Answered
Chosen Option : 2
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Q.10 Frfaf@a us §, 9r el § |, 36 e @1 aa= & ot g 71 2rez & forg agae ereg &t
oIS et fAehea g1

Tt
Ans O 1 s
X 2. af&mn
o 3 st
X 4. gafat

Question ID : 7645841090
Status : Answered
Chosen Option: 3

Q.11 F=fafEe usr &, ar Aot 7 9, 39 fAorea o1 999 R 51t g 710 gerer o1 a8 orf aren
farepea 81

& IR AT
Ans & 1. el 3
/< 2. qEen
X 3. wfAmm

W 4 g aR

Question ID : 7645841093
Status : Answered
Chosen Option : 4

Q.12 fA=faf@d us d, ar Rl 3 @, 39 faeeu &1 wa= &R St Ry 71g area & Qv erema & 9e &1
gt faeme g

A1t Sit @ f&e @ oft aur a3 @ T @ @ 9
Ans X 1. Gdesited s
{z.uaaua}mm
/< 3. Rt s
/X 4. Rrarfasteor s

Question ID : 7645841082
Status : Answered
Chosen Option : 4

Q.13 FA=afaf@a usr A, =R faereal 9 @, 39 Rerey &1 == &R it forar & e arer a8 faerea gt

T ST AT AR e T
Ans X" 1. srepeien R

2. e B
K 3.7merg
7 4. iRomefes

Question ID : 7645841081
Status : Answered
Chosen Option : 2
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Q.14 Select the most appropriate word that fills in the blank correctly and completes the
sentence meaningfully.

Although he was wealthy, he was still
Ans « 1. unhappy

x 2. ecstatic
X 3. elated
X 4. unreal

Question ID : 7645841098
Status : Answered
Chosen Option : 1

Q.15 Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the
option that gives the correct sequence in which these parts can be rearranged to form a
meaningful and grammatically correct sentence.

P: from a shop
Q: of meat

R: stole a piece
S: the hungry dog

Ans X" 1.SQRP
75 2.QRPS
o 3.sRrapP
/X 4.PQRS

Question ID : 7645841100
Status : Answered
Chosen Option : 3

Q.16 Select the most appropriate word that fills in the blank correctly and completes the
sentence meaningfully.

Because my coffee was too cold, | it in the microwave.
Ans X" 1 heats

x 2. cooled
{ 3. heated
X 4. cools

Question ID : 7645841099
Status : Answered
Chosen Option: 3
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Q.17 Select the word segment that substitutes (replaces) the bracketed word segment correctly
and completes the sentence meaningfully. Select the option 'no correction required' if the
sentence is correct as given.

| always arrive to (class twenty minutes late) so that | have time to prepare.

Ans ( 1. class twenty minutes early
X 2. class twenty minutes after
X 3. No correction required

X 4. class twenty minutes apart

Question ID : 7645841096
Status : Answered
Chosen Option : 1

Q.18 Select the word that is spelled correctly.
Ans X 1 Silhouete

« 2. Silhouette
X 3. Silhouettee
x 4. Silhoutte

Question ID : 7645841105
Status : Answered
Chosen Option : 4

Q.19 Select the word that is opposite in meaning (ANTONYM) to the word given below.

NEGLIGENT
Ans & 1 remiss

« 2. meticulous
X 3. slack
X 4. lazy

Question ID : 7645841103
Status : Answered
Chosen Option: 2

Q.20 The sentence below has been divided into three parts. Select the part of the sentence that
has an error. If the sentence has no error, select the option 'No Error'.

The President / of the country is a / former soldier in the Army.
Ans X" 1. The President

« 2. of the country is a

X 3. No Error

x 4. former soldier in the Army.

Question ID : 7645841094
Status : Answered
Chosen Option : 2
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Q.21 Select the word that is spelled correctly.
Ans X 1. Orientle

( 2. Oriental
75 3. Oriantle
X 4. Oriantal

Question ID : 7645841104
Status : Answered
Chosen Option : 2

Q.22 Select the word segment that substitutes (replaces) the bracketed word segment correctly
and completes the sentence meaningfully. Select the option 'no correction required' if the
sentence is correct as given.

Turtles and snails (do not move faster).

Ans X" 1. do not move fastest
X 2. No correction required
( 3. do not move quickly

X 4. do not move fastly

Question ID : 7645841097
Status : Answered
Chosen Option : 3

Q.23 The sentence below has been divided into three parts. Select the part of the sentence that
has an error. If the sentence has no error, select the option 'No Error'.

Smitha loved / to play prank on /her friends and teachers.
Ans X" 1. No Error

( 2.to play prank on
x 3. Smitha loved

X 4. her friends and teachers.

Question ID : 7645841095
Status : Answered
Chosen Option : 3

Q.24 Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the
option that gives the correct sequence in which these parts can be rearranged to form a
meaningful and grammatically correct sentence.

P: was often bothered by neighbourhood dogs
Q: as my jogging-enthusiast sister

R: her on a bicycle

S: her husband started to accompany

Ans X" 1 SRQP
/< 2.PQRS
o 3.aPsR
X 4.PSRQ

Question ID : 7645841101
Status : Answered
Chosen Option: 3
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Q.25 Select the word that is closest in meaning (SYNONYM) to the word given below.

QUAINT
Ans x 1. profundity

X 2. banal
/X 3. cliché
(I 4. funky

Question ID : 7645841102
Status : Answered
Chosen Option : 1

Section : Basic Computer Knowledge

Q.1 Which one of the following is NOT a component of the CPU?
Ans X" 1 Register

x 2. Arithmetic logic unit
x 3. Control unit

« 4. Motherboard

Question ID : 7645841106
Status : Answered
Chosen Option : 1

Q.2 Which of the given options best matches the items of LIST-1 with the items of LIST-2?

LIST-1

(i) Monitor
(i) Printer
(iii) Plotter

LIST-2

(a) Cathode ray tube

(b) Dot-Matrix

(c) Flatbed

Ans o 1) - (a), (i) - (b), (i) - ()

X 2.3) - (), (i) - (a), (iii) - (b)
X 3.) - (o), (i) - (a), Giid) - (©)
X 4.3) - (@), (i) - (b), (iil) - (a)

Question ID : 7645841111
Status : Answered
Chosen Option : 4
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Q.3 Which of the following is a line printer?
Ans J 1. Chain printer

x 2. Dot-matrix printer

x 3. Inkjet printer
x 4. Laser printer

Question ID : 7645841112
Status : Answered
Chosen Option : 2

Q.4 Which of the following file types represents a compressed version of one or more files?
Ans X" 1 EXE

#< 2.p0C
W s zp
75 4.PDF

Question ID : 7645841109
Status : Answered
Chosen Option : 4

Q.5 Which of the following statement regarding Mozilla Firefox is FALSE?

Ans x 1. It can work on Linux systems as well.
J 2. Itis a Google product.

x 3. In Mozilla Firefox, the Ctrl +Tab shortcut key is used to switch from one tab to the
other tab.

X 4. It is an open-source browser.

Question ID : 7645841115
Status : Answered
Chosen Option : 2

Q.6 In early computers, which of the followings was used as an input device?
Ans x 1. Transistor

J 2. Punched card
x 3. Vacuum tube

X 4. Paper card

Question ID : 7645841107
Status : Answered
Chosen Option : 4
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Q.7 Which of the following statement about the Windows operating system is false?
Ans J 1. It cannot have two or more application programs open simultaneously.
X 2. It is a multitasking operating system.

x 3. The first screen that appears on the Windows OS after the booting process is called
desktop.

X 4. It supports GUI.

Question ID : 7645841114
Status : Answered
Chosen Option : 1

Q.8 In MS-Word, the Ctrl + H shortcut key opens the ‘Find and Replace’ dialog box with active
tab.

Ans  of 1 Replace
75 2.Find
/X 3.6oTo
X 4.Go

Question ID : 7645841110
Status : Answered
Chosen Option : 3

Q.9 What happens when the “Minimize” button of an application window is clicked?
Ans x 1. The application is closed.

X 2. The application program is deleted from the computer.
x 3. The application widow covers the whole screen.

( 4. The application window appears as anicon on the status bar.

Question ID : 7645841113
Status : Answered
Chosen Option : 4

Q.10 In the TCP/IP model, which of the following is NOT a transport layer protocol?
Ans & 1.TCP

o 2.Bo0TP
#< 3.5CTP
/X 4.upP

Question ID : 7645841108
Status : Answered
Chosen Option : 2

Section : Awareness about School Education & Examination Board & its Administration etc.
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Q.1 Which of the following can be used for assessment of the perceptions of other staff and
parents towards value education by school as proposed by NCERT?

Ans J 1. Questionnaires

X 2. Data collection

X 3. Survey

X 4. Individual interviews

Question ID : 7645841118
Status : Answered
Chosen Option : 3

Q.2 What does composite affiliation mean?

Ans J 1. Affiliation for running the classes till which affiliation is granted
x 2. Affiliation for running all the classes till primary grades
X 3. Affiliation for running the school till senior secondary classes

x 4. Affiliation for running the school till middle school

Question ID : 7645841122
Status : Answered
Chosen Option: 3

Q.3 What is the method suggested by NCERT for enhancing concentration and reducing
restlessness before each class period?

Ans x 1. Allow students to do what they wish for 10 minutes after each class
x 2. Giving a break of 15 minutes after each class

J 3. Silent sitting

x 4. Allow them to take a nap of 15 minutes after each class

Question ID : 7645841117
Status : Answered
Chosen Option: 3

Q.4 What is the minimum attendance expected in a regular course of study?

Ans X 1. 100 percent in practical classes
X 2. 60 percent in practical classes
J 3. 75 percent in classes

X 4. 60 percent in classes

Question ID : 7645841120
Status : Answered
Chosen Option : 3
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Q.5 When can a student mention the name of the guardian in the records of the board as per
CBSE?

Ans x 1. Only when the name of the mother is not known
x 2. No specific rule, it is the choice of the student to mention guardians name
x 3. Only when the name of the father is not known

“ 4. Only when the name of both father and mother is not known

Question ID : 7645841123
Status : Answered
Chosen Option : 4

Q.6 A teaching approach which attempts to help students question and challenge domination
and the beliefs and practices that dominate. In this tradition, the teacher works to lead
students to question ideologies and practices considered oppressive (including those at
school). What is this type of teaching method known as?

Ans X 1. Collaborative learning
X 2. Experiential education
X 3. Remediation

« 4. Critical pedagogy

Question ID : 7645841124
Status : Answered
Chosen Option : 2

Q.7 Who should maintain the records of student’s achievements and progress as per CBSE
norms?

Ans ( 1. The school
X 2. The student
X 3. The parents
/5 4. CBSE board

Question ID : 7645841121
Status : Answered
Chosen Option : 1

Q.8 From an ecological perspective, the child's education is determined by which of the
following factors?

Ans X 1. Friends and his peer group only
X 2. Parents and family only

( 3. The entire environment in which the child grows, which includes parents, teachers
and society

x 4. School and teachers only

Question ID : 7645841125
Status : Answered
Chosen Option : 3
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Q.9 The component of an attitude which deals with doing or at behaviour level is known as:
Ans X 1 affective

x 2. cognitive

X 3. effective

( 4. conative

Question ID : 7645841116
Status : Answered
Chosen Option : 2

Q.10 Which of the following advocated turning education as a ‘forceful tool for the cultivation of
social and moral values'?

Ans x 1. National Council of Educational Research and Training
X 2. National Curriculum Framework
X 3. Central Board of Secondary Education

( 4. National Policy on Education

Question ID : 7645841119
Status : Answered
Chosen Option : 1
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